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polluted fishes of (1) Lead; (2) Arsenic; (3) Chromium; (4)
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( ) 31. To perform operations that are capable of providing a source of
ignition, an employee should first get a written authorization

f (1) Entry permit; (2) Hot wofk permit; (3) Radiafion work
permit; (4) None of above.

()32 Inabasement of confined space, & rotten-egg-like stinky smell
(#=) can be caused by (1) ES; (2) CO; (3) CO:; (4) Oxvgen
enriched atmosphere

( ) 33. When dealing with personal protective equipment issues, which
part of the body has the most injury or accident? (1) Head: (2)
Eyes; (3) Hands; (4) Fingers.

( ) 34, When unknown atmosphere must be entered, we should be best to
wear (1) Gas mask; (2) Particulate respirator; (3) Chemical
cartridge respirator; {4) SCBA (self-contained breathing
apparatus).

( ) 85. By the OSHA definition, which one of the following work
environments is categorized as a confined space? {1) SCBA diving
worker; (2) Semiconductor clean-room (& & %) worker; (3) Marine
biologists inside a research submarine; (4) Scrubbing worker
inside an ‘“empty” gas storage tank; (5) All of above

( ) 36. Ametal firewithina firework factory is classified as a (1) Class
A: (2) Class B; (3) Class C; (4) Class D fire.
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¢ ) 37 TFor occupational exposure limits, which one of the followings
can be used as legal binding 1imit? (1) PEL by OSHA; (2) REL by
NIOSH: ¢3) ILV by ACGIH; (4) ali of the above.

{ ) 38 Which substance is considered as gas in its normal physical state
at room temperature and one atmosphere pressure? (1) Benzene; (2)
Gasoline; (3) Carbon tetrachloride; (4) Chlorine.

( )39 VWhile inspecting a facility, the OSHA inspector should give first
priority to (1) Investigation of imminent dangers; (2)
Investigation of employvee complains; (3) Programmed high-hazard

__inspections; (4) Re-inspections.

{ ) 40. Biomarker sampling time of total phenol contained in urine for
benzene exposing environment workers should be done at (1) End
of shift; {2) End of workweek; {3) Prior to the next shift; {4)
During the shift.
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(a) B H F&(A), (B), (C), D)ty &t 7 (12%)

(&) RAFER-squaretd & & 7 (6%)
{¢) #FARFEPartial regression coefficient ? (6%)

Sum of Mean
Source DF Squares Square FValue Prob>F
Model 2 277.16 138.58 (18] 0.0001
Error (A) 132 64 (B)

Root MSE 2,793 R-square 06763
_ Dep Mean 106 1 Adj R-sq 0.6383

Parameter  Standard T for HO: Prob>}I|  Standarized
Variable DE Estimate Error Patameter=0 Estimate
Intercept 1 76656 6.529 11.74 0 000 .
Sex 1 -0 067 1360 -0.05 0962 0.819
Wit i 0.738 0154 D) 0.060 -0.007
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Case-Control #4712 8 Case-Control  #7 & #3
Status T — Status =~ e
230 <30 Total 230 <30 Total
ABmEL 68 253 21 ABEF 82 280 362

RERHE 149 874 1023  REHRB 162 925 1087
Total 217 1127 1344  Total 244 1205 1449
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4. The following table shows the risk (per 1,000) of stroke for those jointly exposed to oral contraceptives (OC)
and hypertension (HT). Please calculate

{a) the background risk ratio (RR) (5%)

{b) the effect (RR) of OC use alone (5%)

{c) the effect (RR) of HT alone (5%)

(d) Biologic interaction (displayed in RR)? (5%)

OC use No hypertension Hypertension
' Nonusers 1.5 9.3
Users 4.4 18.9




